B iET R

A1l A2 A3 >Nz g
SRR EBE (a) 8,122 524 250 8,896
B A AN
MR R IBY(b/) P e e T
(=) (++)
125 & | P+
G1 =90 37 0 1 38
G2 |60~89 454 50 11 515
G G3a [45~59 401
F
R G3b |30~44 128
X
4 G4 |15~29 26
(muysA73mM |gs <15 1
N 0
&it 933 117 59 0 1,109
[ B & ) - =
s = TE DR 97 0D 7 KA +
HERRIR A8 ZOHDYRHEL ZOHDYZ58BY
SBELHbATC6.5LL B, -1, & 535 % o714
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = = ,
ARy ookO—L FTERERL | LDL—C = [0 [ JiE | =5 PR B i i
ZuE 300LL E 120LL IELDE | 710k
# REM 20 449 396 126
% 18 40.5 35.7 1.4
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" T

A1 A2 A3 ¥ gt
SRR EBE (a) 10,568 | 852 473 11,893
o A AN
MRFUZI5Y(b/a) T
(=) (++)
16.9 =) | P |+
G1 =90 141 14 7 162
G2 |60~89 902 80 37 1,019
G G3a [45~59 50 547
F
R G3b |30~44 220
X
Ay G4 [15~29 59
(mL/%/1.73m) G5 <15 7
N 0
&t 1,670 192 152 0 2,014
[ B & ) o -
s = VE bR 97 0D 7 TEDRIA +
HRIRIR A8 ZOHDYRS%L 20D RS HY
SBELHbATC6. 5L £, -1, G 647 % 1,367
[ B 8 ] ST TS - i . ‘
ARy or0—L FTERERE| LDL—C = I [ fiE | 5 PR B o
ZLE 3001 E 12080 k£ IELLE | 710
# RE 55 652 710 188
% 2.7 32.4 35.3 9.3
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S TR H

A1 A2 A3 Z<ER s
SRR EBE (a) 3,574 258 130 3,962
B A AN
MR R 51 (b/2) P e e T
(=) (++)
18 & | P+
G1 =90 19 1 1 21
G2 |60~89 172 18 14 204
G G3a |45~59 167
F
R G3b |30~44 60
X
4 G4 |15~29 12
(mus/anm) |gs <15 2
N 0
a5t 364 58 44 0 466
[ B & ) - o
s = TE DR 97 0D 7 TEDR IR +
HRIRERAI85Y 2D RS%L 20D YRS HY
SBELHbATC6.5LL B, -1, % 209 % 261
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = = ,
ARy ookO—L FTERERL | LDL—C = [0 [ JiE | =5 PR B i i
ZuE 300LL E 120LL IELDE | 710k
5 REM 11 184 189 39
% 2.4 395 40.6 8.4
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HEmiRH

A1 A2 A3 ABH e
SRR EBE (a) 3,367 302 160 3,829
B A AN
MR R I5Y(b/2) I e e T
(=) (+4)
131 & | P+
G1 =90 28 1 0 29
G2 60~89 194 25 13 232
G G3a [45~59 160
F
R G3b |30~44 66
X
Ay G4 [15~29 "
(mus/anm) |gs <15 2
N 0
&t 415 49 36 0 500
L2 58] WE PRI W R Im
ek = EKIE D H HEKIE +
HRR AT 5Y ZOHDYRHEL ZOHDYZ58BY
SBELHbATC6. 5L £, -1, G 288 G 212
[ B & ] AARYwHL U RO— L R RS = I [ iF | & PR E& i
hEfERs[ LDL—C]| ™ "
ZLE 3004 E 120LL L IELDE ]| 710k
5 KREE 4 169 189 RENE
% 0.8 33.8 37.8
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INRTITIR B

A1 A2 A3 Z<ER s
SRR EBE (a) 1,904 124 53 2,081
B A AN
MR R 51 (b/2) P e e T
(=) (++)
120 EON BRSRNN NS
G1 =90 5 4 0 9
G2 |60~89 111 10 3 124
G G3a [45~59 74
F
R G3b |30~44 33
X
Vi G4 15~29 8
(mus/anm) |gs <15 2
EN (]
&it 211 30 9 0 250
[ B & ) - o
s = TE DR 97 0D 7 TEDR IR +
HRIRERAI85Y 2D RS%L 20D YRS HY
SBELHbATC6.5LL B, -1, % 193 % 97
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = = ,
ARy ookO—L FTERERL | LDL—C = [0 [ JiE | =5 PR B i i
ZuE 300LL E 120LL IELDE | 710k
] REE 5 86 106 RENE
% 2.0 34.4 424
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Hm ik

A1 A2 A3 A<ER s
SRR EBE (a) 1,081 55 27 1,163
B A AN
PR R I8 (b/a) I e e T
(=) (++)
83 =) | P+
G1 =90 6 0 1 7
G2 [60~89 43 4 1 48
G G3a [45~59 28
F
R G3b [30~44 7
X
Vi G4 15~29 6
(mus/anm) |gs <15 0
N 0
a5t 86 5 5 0 96
[ B & ) - o
s = T2 DR IR 0D 7 TEDR IR +
IR AI85Y 2D RS%L 20D YR HY
SBELHbATC6. 5L £, -1, % 64 % 32
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = == ,
ARy ookO—L FTERERL| LDL—C = [0 [ JiE | =5 PR B i i
ZLE 3004 E 120LL L IELDE ]| 710k
# REM 2 26 33 1
% 2.1 27.1 34.4 10
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EfE T

A1l A2 A3 BR s
SRR EBE (a) 1,001 88 47 1,136
B A AN
MR R 51 (b/2) P e e T
(=) (+4)
112 EON BRSRNN NS
G1 =90 7 0 1 8
G2 [60~89 56 12 7 75
G G3a [45~59 27
F
R G3b [30~44 15
X
Vi G4 15~29 2
(mus/anm) |gs <15 0
PN 0
&t 94 19 14 0 127
[ B & ) . o
s = TE DR 97 0D 7 TEDR IR +
HRIRERAI85Y 2D RS%L 20D YRS HY
SBELHbATC6.5LL B, -1, % 69 % 58
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = = ,
ARy ookO—L FTERERL | LDL—C = [0 [ JiE | =5 PR B i i
ZuE 300LL E 120LL IELDE | 710k
] REE 3 51 49 RENE
% 2.4 40.2 38.6
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PR R

A1 A2 A3 A<ER A5
SRR EBE (a) 985 64 31 1,080
B A AN
PR R I8 (b/a) I e e T
(=) (++)
1.3 & | P+
G1 =90 3 0 1 4
G2 |60~89 56 4 1 61
G G3a [45~59 41
F
R G3b [30~44 15
X
o G4 15~29 2
(muysA7mM |gs <15 1
N 0
a5t 105 10 9 0 124
[ B & ) - o
s = T2 DR IR 0D 7 TEDR IR +
IR AI85Y 2D RS%L 20D YR HY
SBELHbATC6. 5L £, -1, % / % 53
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = == ,
ARy ookO—L FTERERL| LDL—C = [0 [ JiE | =5 PR B i i
ZLE 3004 E 120LL L IELDE ]| 710k
# REM 1 39 67 9
% 0.8 315 54.0 7.3
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AUDHEH

A1 A2 A3 Z<ER s
SRR EBE (a) 1,034 61 30 1,125
B A AN
MR R 51 (b/2) P e e T
(=) (++)
122 EON BRSRNN NS
G1 =90 8 0 0 8
G2 |60~89 48 4 3 55
G G3a |45~59 50
F
R G3b |30~44 20
X
Vi G4 15~29 4
(mus/anm) |gs <15 0
EN (]
&it 111 15 11 0 137
[ B & ) - o
s = TE DR 97 0D 7 TEDR IR +
HRIRERAI85Y 2D RS%L 20D YRS HY
SBELHbATC6.5LL B, -1, % 80 % o7
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = = ,
ARy ookO—L FTERERL | LDL—C = [0 [ JiE | =5 PR B i i
ZuE 300LL E 120LL IELDE | 710k
# REM 6 52 30 K=EM
% 4.4 38.0 21.9
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= RRETRHA

A1 A2 A3 A<ER A5
SRR EBE (a) 1,015 48 32 1,095
B A AN
PR R I8 (b/a) I e e T
(=) (++)
146 = | P+
G1 =90 5 1 0 6
G2 |60~89 82 9 3 94
G G3a |45~59 45
F
R G3b |30~44 13
X
Vi G4 15~29 1
(muysA7mM |gs <15 1
PN (]
&t 135 14 11 0 160
[ B & ) - o
s = T2 DR IR 0D 7 TEDR IR +
IR AI85Y 2D RS%L 20D YR HY
SBELHbATC6. 5L £, -1, % 63 % 97
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = == ,
ARy ookO—L FTERERL| LDL—C = [0 [ JiE | =5 PR B i i
ZLE 3004 E 120LL L IELDE ]| 710k
# REM 4 72 52 13
% 25 450 325 8.1
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= [RET R 8

A1 A2 A3 Z<ER s
SRR EBE (a) 500 23 16 539
PR & H X 7>
HERRIRIHY(b/a) Y 5 G = e
(=) (++)
14.8 (=) | P |+
G1 =90 4 0 0 4
G2 |60~89 27 1 1 29
G G3a |45~59 33
F
R G3b |30~44 11
X
o G4 [15~29 3
(mus/anm) |gs <15 0
e 0
&t 70 4 6 0 80
[ B & ) . .
s = TE DR 97 0D 7 TEDR IR +
HRIRERAI85Y 2O ZHEL 20 R5HY
SBELHbATC6.5LL B, -1, % 40 % 40
BED (HbA1CT0ERELED)) % 50.0 % 50.0
[ B 8 ] s s IS N = e ,
ARy ookO—L FTERERL | LDL—C = [0 [ JiE | =5 PR B i i
ZuE 300LL E 120LL I[ELE 710 E
# REM 1 34 29 3
% 1.3 425 36.3 38
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EEH®%H

A1 A2 A3 A<ER A5
SRR EBE (a) 532 10 3 545
B A AN
PR R I8 (b/a) I e e T
(=) (++)
128 = | P+
G1 =90 3 0 0 3
G2 |60~89 31 0 2 33
G G3a |45~59 22
F
R G3b |30~44 10
X
Vi G4 15~29 2
(mus/anm) |gs <15 0
PN (]
&t 65 3 2 0 70
[ B & ) - o
s = T2 DR IR 0D 7 TEDR IR +
IR AI85Y 2D RS%L 20D YR HY
SBELHbATC6. 5L £, -1, % 25 % 45
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = == ,
ARy ookO—L FTERERL| LDL—C = [0 [ JiE | =5 PR B i i
ZLE 3004 E 120LL L IELDE ]| 710k
# REM 1 36 30 12
% 1.4 514 429 17.1
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TRET R A

A1 A2 A3 Z<ER s
SRR EBE (a) 519 59 19 597
B A AN
MR R IBY(b/) P e e T
(=) (++)
16.4 (+) | P G+
G1 =90 2 0 0 2
G2 |60~89 35 2 2 39
G G3a |45~59 30
F
R G3b |30~44 21
X
Vi G4 15~29 6
(mus/anm) |gs <15 0
EN 0
&t 81 11 6 0 98
[ B & )
ek = TE KR 0D 7 WEDRIA
HRIRERAI85Y 2O ZHEL 20 R5HY
SBELHbATC6.5LL B, -1, % 6 % 37
BED (HbA1CT0ERELED)) % 62.2 % 378
[ B 8 ] S Tar S s S N = e ,
ARy ookO—L FTERERL | LDL—C = [0 [ JiE | =5 PR B i i
ZuE 300LL E 120LL I[ELE 710 E
# REM 2 26 36 K=EM
% 2.0 26.5 36.7
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= SR T & 2

A1 A2 A3 7<EH A5
SRR EBE (a) 356 21 17 394
B A AN
PR R I8 (b/a) I e e T
(=) (++)
19 & | P+
G1 =90 1 0 0 1
G2 |60~89 22 1 1 24
G G3a |45~59 15
F
R G3b |30~44 6
X
Vi G4 15~29 1
(mus/anm) |gs <15 0
<EH 0
&t 38 3 6 0 47
[ B & ) - o
s = T2 DR IR 0D 7 TEDR IR +
IR AI85Y 2D RS%L 20D YR HY
SBELHbATC6. 5L £, -1, % 19 % 28
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = == ,
ARy ookO—L FTERERL| LDL—C = [0 [ JiE | =5 PR B i i
ZLE 3004 E 120LL L IELDE ]| 710k
# RE 0 23 16 1
% 0.0 48.9 34.0 2.1
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HEETRE

A1 A2 A3 Z<ER s
SRR EBE (a) 322 20 22 364
PR & H X 7>
HERRIRIHY(b/a) re 5 G = e
(=) (++)
8.2 (=) | P |+
G1 =90 1 0 0 1
G2 |60~89 18 2 0 20
G G3a |45~59 4
F
R G3b |30~44 4
X
Vi G4 15~29 1
(mus/anm) |gs <15 0
e (]
&t 25 2 3 0 30
[ B & ) - o
s = TE DR 97 0D 7 TEDR IR +
HRIRERAI85Y 2D RS%L 20D YRS HY
SBELHbATC6.5LL B, -1, % 14 % 16
N2 3 P 2N
[ B & ] ARRYwHL U RO— L R RS 1= I [ iF | & PR E& i
hEfERs[ LDL—C]| ™ -
ZuE 300LL E 120LL I[ELE 710 E
# REM 0 15 9 K=EM
% 0.0 50.0 30.0
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AR RF R

A1 A2 A3 A<ER A5
SRR EBE (a) 153 9 4 166
B A AN
PR R I8 (b/a) I e e T
(=) (++)
114 =) | P+
G1 =90 0 0 0 0
G2 |60~89 7 1 0 8
G G3a |45~59 4 5
F
R G3b |30~44 5 5
X
Vi G4 15~29 1
(mus/anm) |gs <15 0
N 0
a5t 16 2 1 0 19
[ B & ) - o
s = T2 DR IR 0D 7 TEDR IR +
IR AI85Y 2D RS%L 20D YR HY
SBELHbATC6. 5L £, -1, % S % 10
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = == ,
ARy ookO—L FTERERL| LDL—C = [0 [ JiE | =5 PR B i i
ZLE 3004 E 120LL L IELDE ]| 710k
# REM 0 8 5 2
% 0.0 421 26.3 10.5

-105 -



ARIHT & H

A1l A2 A3 7<EH fa s
SRR EBE (a) 220 12 5 237
PR & H X 7>
HERRIRIHY(b/a) re 5 G = e
(=) (++)
8.0 & | P+
G1 =90 1 0 0 1
G2 |60~89 9 1 1 11
G G3a |45~59 2 5
F
R G3b |30~44 2
X
Vi G4 15~29 0
(mus/anm) |gs <15 0
A~ 0
&t 13 4 2 0 19
[ B & ) - =
s = TE DR 97 0D 7 TEDR IR +
HRIRERAI85Y 2D RS%L 20D YRS HY
SBELHbATC6.5LL B, -1, % 6 % 13
N2 3 P 2N
[ B & ] ARYwHS U RO— L R RS 1= I [ iF | & PR E& i
hEfERs[ LDL—C]| ™ -
ZuE 300LL E 120LL IELDE | 710k
# REM 0 7 10 2
% 0.0 36.8 52.6 105
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NIFEET £ 5

A1 A2 A3 A<ER A5
SRR EBE (a) 393 20 12 425
B A AN
PR R I8 (b/a) I e e T
(=) (++)
78 & | P+
G1 =90 5 1 0 6
G2 |60~89 14 1 0 15
G G3a |45~59 10
F
R G3b |30~44 2
X
Vi G4 15~29 0
(mus/anm) |gs <15 0
PN (]
&t 27 4 2 0 33
[ B & ) - o
s = T2 DR IR 0D 7 TEDR IR +
IR AI85Y 2D RS%L 20D YR HY
SBELHbATC6. 5L £, -1, % 21 % 12
[ B 8 ] ST S = i ,
ARy ookO—L FTERERL| LDL—C = [0 [ JiE | =5 PR B i i
ZLE 3004 E 120LL L IELDE ]| 710k
5 REE 0 8 11 RENE
% 0.0 242 33.3
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HRET R

A1 A2 A3 Z<ER s
SRR EBE (a) 309 15 7 331
B A AN
PRI R 85V (b/a) P e e T
(=) (++)
13.9 (=) | P |+
G1 =90 5 1 0 6
G2 |60~89 21 0 0 21
G G3a |45~59 12
F
R G3b |30~44 6
X
Vi G4 15~29 1
(mus/anm) |gs <15 0
EN 0
&t 40 3 3 0 46
[ B & )
ek = TE KR 0D 7 WEDRIA
HRIRERAI85Y 2O ZHEL 20 R5HY
SBELHbATC6.5LL B, -1, % 26 % 20
BED (HbA1CT0ERELED)) % 56.5 % 435
[ B 8 ] S Tar S s S N = e ,
ARy ookO—L FTERERL | LDL—C = [0 [ JiE | =5 PR B i i
ZuE 300LL E 120LL I[ELE 710 E
# REM 1 18 12 2
% 22 39.1 26.1 4.3
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FH)IET %A

A1 A2 A3 7<EH A5
SRR EBE (a) 294 15 4 313
B A AN
PRI R 785V (b/a) I e e T
(=) (++)
121 (=) | P |+
G1 =90 1 0 0 1
G2 |60~89 24 1 0 25
G G3a |45~59 9
F
R G3b |30~44 3
X
Vi G4 15~29 0
(mus/anm) |gs <15 0
<EH 0
&t 35 2 1 0 38
[ B & ) - o
s = T2 DR IR 0D 7 TEDR IR +
IR AI85Y ZDHOYRHEL 20 R5HY
SBELHbATC6. 5L £, -1, % 17 % 21
BED (HbAIcT0XRELED)) % 447 % 553
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = == ,
ARy ookO—L FTERERL| LDL—C = [0 [ JiE | =5 PR B i i
ZLE 3004 E 120LL L IELDE ]| 710k
# KEHE 1 20 13 1
% 2.6 52.6 342 2.6
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RIEF R

A1 A2 A3 Z<ER s
SRR EBE (a) 239 10 8 257
B A AN
PRI R 85V (b/a) P e e T
(=) (++)
1.8 =) | P+
G1 =90 2 0 0 2
G2 |60~89 6 0 2 8
G G3a |45~59 6 6
F
R G3b |30~44 4 4
X
Vi G4 15~29 0
(mus/anm) |gs <15 0
N 0
&t 18 0 2 0 20
[ B & ) . o
s = TE DR 97 0D 7 TEDR IR +
HRIRERAI85Y 2O ZHEL 20 R5HY
SBELHbATC6.5LL B, -1, % S % 1
BED (HbA1CT0ERELED)) % 450 % 550
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = = ,
ARy ookO—L FTERERL | LDL—C = [0 [ JiE | =5 PR B i i
ZuE 300LL E 120LL IELDE | 710k
# REM 0 10 8 2
% 0.0 50.0 40.0 10.0
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HEEFRE

A1 A2 A3 A<ER s
SRR EBE (a) 364 11 6 381
B A AN
MR R I5Y(b/a) I e e T
(=) (++)
1.3 (=) | P |+
G1 =90 0 0 0 0
G2 [60~89 24 1 1 26
G G3a [45~59 10
F
R G3b |30~44 7
X
o) G4 [15~29 0
(mus/anm) |gs <15 0
e 0
&t 39 2 2 0 43
[ B & )
A TE R IR 0D 7 WEPRIE +
IR AI85Y ZDHOYRHEL 20 R5HY
SBELHbATC6. 5L £, -1, % 26 % 17
BED (HbA1c7.0RBEELET) % 60.5 % 195
[ B 8 ] s s LS S = =l ,
ARy ookO—L FTERERL| LDL—C = [0 [ JiE | =5 PR B i i
ZLE 3004 E 120LL L IELE 7L E
# REM 0 13 13 6
% 0.0 30.2 30.2 14.0
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SRR

A1l A2 A3 7<EH s
SRR EBE (a) 337 23 11 371
B A AN
MR R IBY(b/) P e e T
(=) (++)
9.2 (+) | P G+
G1 =90 2 0 0 2
G2 |60~89 15 1 1 17
G G3a |45~59 13
F
R G3b |30~44 2
X
Ay G4 |15~29 0
(mus/anm) |gs <15 0
<EH 0
&it 26 4 4 0 34
[ B & )
BRI HY PR im D7 TR ¢
3 ZDHD) R97%L ZDHD)XIHY)
SBELHbATC6.5LL B, -1, % 21 % 13
BED (HbA1CTORBLED) % 618 % 18.2
[ B 8 ] S Tar S s S N = e ,
ARy ookO—L FTERERL | LDL—C = [0 [ JiE | =5 PR B i i
ZuE 300LL E 120LL IELDE | 710k
] REE 2 9 17 RENE
% 5.9 17.6 50.0
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Bz #ETRH

A1 A2 A3 7<EH A5
SRR EBE (a) 178 0 2 180
B A AN
PR R I8 (b/a) I e e T
(=) (++)
100 & | P+
G1 =90 0 0 0 0
G2 |60~89 10 0 1 11
G G3a |45~59 5
F
R G3b |30~44 2
X
Vi G4 15~29 0
(mus/anm) |gs <15 0
N 0
&t 16 0 2 0 18
[ B & ) - o
s = T2 DR IR 0D 7 TEDR IR +
IR AI85Y 2D RS%L 20D YR HY
SBELHbATC6. 5L £, -1, % 12 % 6
{ =] *El 1 S w A,y , KO — Haﬁﬁﬁ = == ,
ARy ookO—L FTERERL| LDL—C = [0 [ JiE | =5 PR B i i
ZLE 3004 E 120LL L IELDE ]| 710k
# REM 0 6 7 1
% 0.0 33.3 38.9 5.6

-113-



T BT R A

A1 A2 A3 Z<ER s
SRR EBE (a) 168 3 1 172
B A AN
MR R IBY(b/) P e e T
(=) (++)
5.8 (=) | P |+
G1 =90 0 0 0 0
G2 |60~89 6 0 0 6
G G3a |45~59 3 3
F
R G3b |30~44 1
X
Ay G4 |15~29 0
(mus/anm) |gs <15 0
EN 0
&t 10 0 0 0 10
[ B & )
ek = TE KR 0D 7 WEDRIA
HRIRERAI85Y 2O ZHEL 20 R5HY
SBELHbATC6.5LL B, -1, % 4 % 6
BED (HbA1CT0ERELED)) % 40.0 % 60.0
[ B 8 ] S Tar S s S N = e ,
ARy ookO—L FTERERL | LDL—C = [0 [ JiE | =5 PR B i i
ZuE 300LL E 120LL I[ELE 710 E
# REM 0 5 1 1
% 0.0 50.0 10.0 10.0

-114-



SRR H

A1 A2 A3 A<ER A5
SRR EBE (a) 635 16 10 661
B A AN
PR R I8 (b/a) I e e T
(=) (++)
101 & | P+
G1 =90 2 0 0 2
G2 |60~89 27 2 0 29
G G3a |45~59 24
F
R G3b |30~44 10
X
Vi G4 15~29 1
(muysA7mM |gs <15 1
PN (]
&t 62 3 2 0 67
[ B & )
A TE R IR 0D 7 WEDRIA
IR AI85Y 2D RS%L 20D YR HY
SBELHbATC6. 5L £, -1, % 3 % 32
[ B 8 ] S Tar S s S S = e ,
ARy ookO—L FTERERL| LDL—C = [0 [ JiE | =5 PR B i i
ZLE 3004 E 120LL L IELE 7L E
# REM 0 28 10 7
% 0.0 41.8 14.9 10.4
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26T BT 41 2

A1l A2 A3 >Nz g
SRR EBE (a) 38,170 2,643 | 1,380 0 42,193
B A AN
MR 751 (b/a) P e e T
(=) (++)
13.4 & | P+
G1 =90 288 23 12 0 323
G2 |60~89 2414 230 105 0 2,749
G G3a |45~59 0 1,746
F
R G3b |30~44 0 673
X
Ay G4 |15~29 0 147
(mL/A/173m) 1G5 <15 0 17
PN 0 0
&t 4,705 556 394 0 5,655
[ B & ) - =
s = TE DR 97 0D 7 TEDR IR +
HERRIR A8 2D RS%L 20D YRS HY
SBELHbATC6.5LL B, -1, % 2520 % 3135
[ B & ] AARYwH U RA— L R RS 1= I [ iF | & PR E& i
hEfERs[ LDL—C]| ™ -
ZuE 300LL E 120LL I[ELE 710 E
5 REM 119 2,046 2,048 416
% 2.1 36.2 36.2 7.4
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BEBEER+BRTAF+EFEE +EEHES

A1 A2 A3 Nz a5
SRR HEHLEH () 211,478 | 8,237 | 3,555 283 | 223,553
R B X 7
ERRIVRIHY(b/a) re 0 A3 = e
(=) (++)
12.9 (+) ) (44
G1 =90 3,934 289 140 8 4,371
G2 |60~89 15,715 997 511 17 17,240
CI_E G3a |45~59 3,933 3 4,705
R G3b |30~44 773 2 1,159
X
A G4 15~29 1 263
(mL/5/1.73 G5 <15 10 69
~BH 921 58 36 3 1,018
&t 25,392 2,008 | 1,381 44 28,825
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